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1207( K& £ R A E B £24E205-2 I, BB T 15, BB BT 2 20 0.6 - X &= =
1208/ KA Tt BIRAER B B $24R 198 Ik B HT Ik B HT 2.5 20 0.3 - X &= —
1209 | REAR ERBEVEER /M R488 Ik BT Ik B HT 2 43 0.1 - X &= —
1210{lLA ERBENEERE /NMRT98 b L) P 3 37 1.3 — X &= —
1211 |BIRE BIRAER A B A /MR270-2 Ik B HT Ik B HT 2 13 0.3 - X &= —
1212|h E—1 RRIBEAER £ & R1502 b L) Ik BB T 4 15 0.1 - X = —
1213|E L RF RRIBERER ER1324 b L) Ik BB T 2 25 0.1 - X = —
1214 it ERBENEE TREFR 1307 b L) Ik BB T 2.4 25 1.4 - X = —
1215/ &/ BRBENHRER 2711138 Ik BT 1 B T 1.5 18 0.6 - X = —
1216]|— MR BRIBENRER 5 A 1560 Ik BT Ik B HT 2.3 18 2.3 - X = —
1217\ /A —2 ERBEVRERE /MRT59 b L] Ik B T 0 0 0 - X = —
121824 A RRMANRERE B R K314 Ik B HT 1% B T 1 9 0.02 - X &= —
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1219|F=X HERIBEN B E E7692 P EL) Ik BB T 25 25 0.41 - X = —
1220[I K BERIBEN B R 31547 Ik, BB HT Ik EE HT 0.5 21 0.04 - X = —
1221|917 RERBABER £ AFF482 P EL) Ik BB AT 0.5 10 0.01 - X = —
1222]|[F&F M BRIBEVER F AFF1498 Ik B T ] 2.5 20 0.13 - X = —
1223[& AL RRIBENHER 54867 3 BB HT 1 B HT 4 20 9 - x = —
1224[&AGH BERAER A E A = A 868 Ik, BB FT L) 3.7 52|  17.28 - X = —
1225| KEHith ERIBAVEEE 18 F1446 P EL) 35k B BT 0 0 0.2 - X = —
1226[;F Kith HERBEN EE 18 F1041 P EL) Ik BB T 2 12 1.8 - X = —
1227|474 BRIV EE fEE1016 P EL) Ik BB T 0 0 35 - X = —
1228 KiRith BRI AR 5k B B K #8550 PP EL) 35k B ET 0 0 0 - X = —
1229 |HI;R ERBAVREE /N R1278 P EL) 5k B T 1.8 20 0.03 - X = —
1230 /N B ERBENEEE _EHA830 P EL) Ik BB T 1 10 0.01 - X = —
1231|175 IIEE BN AMAHABEF T1169, 1851 RiEH BEMNEEBCRE 6] 100 16 - X &= —
1232 8 IRIEE BN AN ERID2448~9 RiEH BUBIF TR B X 2.2 80 3 - X = —
1233|#EIREH A B EN  FtA)IHEERES38 BEH BEMNEEBCRE 2.4 30 5 - X &= —
1234|5538 IIMEFEN BAH= 7663 RiEH BUBIF TR B X 2.6/ 100 4 - X = —
1235 E R[EH A EEN A LEA[E836-7 HEH BEMNEEBCRE 0.9 20 15 - X = —
1236 B L2 IR A BN #F R/ R2828 RiEH HiE T B X 2.1 20 2 - X = —
1237|&/ Ath ABHKFE SHE/A6S KFHE] AFHETENE 25 23 0.6 - X = —
1238 | Enifith AZERFE  TH=EEIR08 B K FHT = ARER 1.5 11 0.1 - X = —
1239| iR Eith AZERFE =SHEHT2 KF EiRFKEE 3.9 39 3 - X = —
1240| ER Tt AZEAFH S HE$968 AF EiRFAKEE 5.6 45 5.3 - X &= -
1241[db/Nith AZEKRFE  Z]IIIEDA4068 KF AFETEHEE 3 19 0.2 - X = —
1242 |BHER A &ith ABEAKFE EZEBHIRAEIT6 XF RAFETEWME 7.6 37 47 - X = —
1243[&5 Tt AZEKRFHT RIS T612 xF AFETEHEE 4 24 0.7 - x & —
1244 & Tt REEATH 2)l= 611 AF RFETEMER 35| 30 0.1 = X i -
12454 iR A AZEKRFE X]I4@4R3176 KF KFETEME 35 31 1.4 - X = —
1246|Ei5ith AZEKFH EE51300 KF BARA 5.9 32 3.1 - X ] —
1247|A/Rith ARBKFH KHH/R1007 XF L IES e =T 4.4 36 2 - X &= —
1248|chiph AZEKFHT HE1E1344 XF KFHETENE 3 23 0.5 - X i —
1249| (4 & AZEKRFE MHEFFAH KFHT RFETEMEE 6 79 5.8 — [@) = —
1250 | KM AEKFH thHA—D K9S5S KFHT St=HMKFIEE 7.9 65 7.4 - X &= —
1251 1L/ Hith AZEERRFHT HHEHIL/H2218 AFHT W/B=HmKFIHEE 3.8 47 1.3 - X i =
1252155 — it AEEKRFHT thHE52345 AFHE AFETEHEE 45 30 0.5 - x & —
1253[5th/ A Fith AZEBRFHT KFtDA142 AFHE AFRTEHER 4.4 38 3.7 - @) &= —
1254| FHVBE—t | AZEEBKFH] HTHE2711 A FHT AFRTEHER 43 35 2 - X &= —
1255 R Kith AZEKRFH  |LHZRE K859 RFHE] AFHTEMER 15 31 0.1 - X = —
1256 | B4 ;th ABEKFE  _ESREAM890 KFHT AFETEHEE 4 44 2.3 - X = —
1257 |F{k H it AR FH INAEFEFIIRE2911 KFHT KFHTEMER 5 24 1.4 - X &= -
12583 EA A M AEEKRFET RHEHEEAA1427 AFE AFETEHEE 5 25 1.8 - x &= —
1259 | FE S AZBERXFEH EHSEXAMRI2 KFHE X%BTE FRER 10 36 48 - X = —
1260 3= Hth A KFH  CEEIRE3971 RFHT BE-hE-OMFIRES [ 3.1 40 0.9 - X &= —
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1261[ithi& AZRATFHT EEBE L4047 A FHT EH-hREOMTAHES | 45 42 1.9 - X i -
1262[HD A AZBATH ISHDA1447 AF AFHTE#HEE 3.1 17 0.1 - X " =
1263 DR ABRATH AZEEK TR AEBEIEDIR225 AF AFHTE#HEE 2.5 65 0.8 - X = —
12645~ Ath ABEKTFHT AZEKFHIHEIIIS 4 A 1455 XF AFHTEMEE 3.2 17 0.3 - X i -
1265[5th& AZRAFHT tHBEML4048 XF EH-hREOMTIAES | 3.8 42 1.9 - X = -
1266 |18 M it EEERPT R BT fTEFAREH 1416 B 5 BT o] 2T i g R AR R T R4 5R 2 80 1.9 - X i =
1267[/MMUT B SR R T S /ML T 947 B 5 BT P RETEE E R MM BEE] 1.5 80 5.8 - X i =
1268| =gkt R BRI R AT EFHFF£1429 By BT PIRETRE MM EHEE| 2.3 64 3.6 - X = =
1269 |48 H ith EECARPT R AT BR SR 1193 fa] 5 BT B BT SRR AT R BER| 1.5 85 18 - X = —
1270| F 15 E SRR R AT % 5 15352003 B 5 BT P RET A E R B EE| 1.5 20 2.6 - X i =
1271 (&R HELERMA R AT RS N1820 By 2 BT FIRBETEEERIMMmERE 15 60 15 - X i =
1272|238 HELERA] BT R % SR im T 2049 LHFFBLHBER | ZAHFFRTHMBER 3 20 2 - X i -
1273| R4 EM IREARGHT  FHK5042-1, 50601 T~EH ARt BERX 3.5 85 135] Rt.11.13 X i =
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